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qumma of the properties of quadrilaterals (diagonals, angles and sid€s
ey

;Quadrilateral Diagonals A_nﬁ Stdes ¥ e
A The diagonals of a | The opposite The opposite
of a parallelogram
parallelogram angles of a rallel and
E bisect each other. | parallelogram are | 8¢ P
equal. The internor equal.
angles add up t0
360°. ——
The diagonals of a | The opposite The opposite sides
rthombus bisect angles of a of a rhombus are
each other at right | rhombus are parallel and all
angles. The equal. The interior sides are equal.
diagonals bisect angles add up t0
the vertex angles. | 360°.
The opposite sides

The diagonals of a
rectangle bisect
each other and are
equal in length.

The interior angles
of a rectangle are
equal to 90°. The
interior angles add
up to 360°.

of a rectangle are
parallel and equal.

The opposite sides

The diagonals of a | The interior angles
square bisect each | of a square are of a square are
other at right equal to 90°. The | parallel and all
angles and are interior angles add | sides are equal.
equal in length. up to 360°.
The diagonals
bisect the vertex
angles.
The diagonals of a | The interior angles | One pair of
trapezium add up to 360°. opposite sides are
intersect but don’t parallel.
bisect each other.
They lie between
parallel lines and
therefore the
alternate angles
L are equal.

D The dlagonals are | One pair of Two pairs of

AN perpepdlcular and | opposite angles adjacent sides are
one diagonal are equal. The equal

A E C bisects the other. | interior angles add .

One of the up to 360°.
diagonals bisects

B the vertex angles.
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P:BCD is a parallelogram. D
A, =20%, B, =90°, B, =30°,
DE =2 cmand AE =3 c¢m. Calculate: C
(1)  the length of AC and BD
(2) thesize of 6 A
B
In thombus PQRS, PQ =26 cm and QS =48 cm. £ S
Calculate the length of PR. %
Q R
. » A
ABCD is a kite. The diagonals intersect
at E. BD =30 cm, AD =17 cmand 1?2
DC = 25 cm. Determine:
(1) AE 1 1{2 N
2) AC Bz E|? 2
(3) B, if A =20°
12
C
A E D

ABCD is a square. AEB=54°.
Calculate F.

ABCD is a rectangle anfi

DECF is a thombus. DEC = 60°

(1)  Calculate the size of:
.., B, and By

2)  Calculate the length of AC
if EC=4cm




